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ENGLISH / ~

16. Select the correct degr~'l,t comparison
to complete the sentence :

Kolkata is -- thattl:many other
cities.

20. Select the correct plural form of 'calf'.

(A) Calfs

(B) Calves
(A) big

(C) Calfes
(B) bigger

(C) biggest
(0) None of the above

(0) more bigger 21. Choose the correct one word for the
following:

"An artificial water body made by
man"

17~Which of the following sentences is not
coJ.TeCt?

(A) What has Meera found?

(B) What did Meera find?

(C) What did Meera found?

• (0) What will Meera find?

(A) Swimming pool

(B) Sea

(C) River

(0) Ocean

18. Select the correct preposrtion to
complete the sentence :

My class teacher prefers coffee
-- tea.

22. Antonym of tile word 'continue' is

(A) regular

(A) to

(B) in

(C) with

(0) on

19. Pick the odd one out.

(A) Madhya Pradesh

(B) Bihar

(C) India

(0) Punjab

(B) discontinue

(C) approve

(0) None of the above

23. The silent letter in the word 'llonest' is

(A) h

(B) 0

(C) n

(0) s

SMEO/13-A 5 [ P.T.O.



24. The rhyming word for 'big' is 28. Select the suitable verb to complete the
sentence:

. (A) bag Rahim -- watching TV.

(B) red
(A) has

(C) dig
(B) had

(0) stop

(C) were

25. The opposite gender of the word 'horse'
is (0) was

(A) mare

(B) colt 29. Choose the suitable article/determiner
to complete the sentence :

(C) horses I would like to talk to one of --
monitors.

(0) horsily
(A) a

26. 'Burning issues' means
(B) an

(A) unwanted topics
(C) the

(B) painful topics

(0) some
(C) useless topics

(0) important topics
30. The present participle form of the verb

'fall' is
27. "He is not a famous person" is

sentence.
(A) fall

(A) a negative
(B) fell

(B) an exclamatory

(C) an interrogative
(C) falling

j

(0) None of the above (0) will fall I
SMEO/13-A 6 I



ENVIR8NMENTvi q;qfq(Vi

31. Kaziranga National Park is situated in

(A) Gujarat (A) ~

(B) Assam (B) ~

(C) Madhya Pradesh

(O) Uttar Pradesh (O) '3"ij\m

32. The headquarters of the World Health
Organization (WHO) is in

32. ~ ~ ~ (WHO) ~ ~&Ml~ ~

~?

(A) London (A) ~
I

(B) Geneva (B) -fuT

(e) Paris (e) ~

(O) New York (0) ~

33. The percentage ofO:pn atmosphere is

(A) 20% (A) 20%

(B) 21% (B) 21%

(C) 22% (e) 22%

(O) 23% (O) 23%

SMEO/13-A 7 (P.T.O.



34. Which of the following is not a climatie'[.
factor?

(A) Soil

(B) Temperature

(C) Rain

(D) Light

35. Manure formed by earthworms is
called as

(A) organic manure

(B) vermicompost

(C) manure

(D) None of the above

36. Amongst the following, which disease is
caused due to water pollution?

(A) Typhoid

. (B) Jaundice

(C) Dysentery

(D) All of the above

37. Which gas is related to Bhopal Gas
Tragedy?

(A) 03

(B) CO

(C) S02

(0) MIC

SMEO/13-A
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(A) ~
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38. The main gre«!nhpu., ps is 38. ~ !fi"~I~1ttf. t

(A) 02

(B) CO2

(C) N2

(0) H2

(A) 02

(B) CO2

(C) N2

(0) H2

39. The percentage otco2 in atmosphere is

(A) 0·30%

(B) 3·0%

(C) 0·03%

(0) 0·003%

39~ CfI~Os8 1\CO2 t:tn ~ t

(A) 0·30%

(B) 3·0%

(C) 0·03%

(0) 0·003%

40. The reason for ozone hole is
40.' ~ 1Ra 1\ ~ iR Cf;J~ ~

(A) ~1~41~H

(B) "I~~'iij"

(C) Ck.1">liI~aftilCflI."

(0) ~1\~~~

,-(A) hydrogen

(B) nitrogen

(C) chlorofluorocarbon

(0) None of the above

41. Air is a/an 41. ~l~

(A) compound (A) ~

(B) element (B) '('Rq

(C) mixture (C) fJJ~

(0) metal (0) tng

SMEO/13-A 9 [ P.T.O.



42. The main source of energy is

(A) electricity

(B) radioactive substance

(e) sun

(D) magnet

43. Seawater level is rising by the cause of

(A) global warming

(B) heavy rain

(e) river water meeting

(D) None of the above

44. 'World Environment Day' is celebrated
every year on

(A) 18th April

(B) 5th June

(e) 7th June

(D) 31st May

45. Which type of forests is' mostly found in
India?

(A) Evergreen forest

(B) Monsoon forest

(e) Delta forest

(D) Desert forest

SMEO/13-A
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GENeRAL KNqWLEDGE l~n'n;:;q~

46. The central part of the earth is known 46. ~ ~ ~ 'WI q;) ~ ~
as

(A) 't'tfIfit

(B) ~

(e) ~. (f-rt)

(0) ~

(A) crust

(B) crater

(C) inner core (nife)

(D) mantle

47. The "Teachers' Day" is celebrated on

(A) 6th October

(B) 26th January

(C) 5th September

(D) 28th Febru~

47. '~ftcm' qjif lFf11IT ~ ~?

(A) 6~

(B) 26~

(e) 5~

(D) 28~

48. The National Bird of India is
48. ~CfiT~~~

(A) mar

(B) ~

(e~ lIR

(D) ~

(A) parrot

(B) cuckoo

(e) peacock

(D) eagle

49. The Golden Temple is situated at

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

(A) qfBMIl

(B) ~~'II"t1

(C) ~

(D) ~

50. The minimum age for voting in India is \ SO. ~.q~~~~~
(A) 21 ~

(B) 16 ~

(C) 25 ~

(D) 18 ~

(A) 21 years

(B) 16 years

(e) 25 years

(D) 18 years

SMEO/13-A 11 [ P.T.O.



51. Barack Obama is concerned with l S~•..~ .~·~.··~~~t?
(A) Japan (A) ~

(B) South Korea (B) ~~

(C) USA (C) '-0 ~o ~o

(0) Iran
(0) ~

52. Bhimsen Joshi is concerned with ~~~t52.
(A) wrestling ~-«(A)
(B) singing

1'rw.J~(B)(C) instrumentation
(C) ~~

(0) politics
(0) ~~

53. Microsoft is related to the field of

(A) computer 53. ql~Sh')ei'il eklRid t
(B) seed (A) ~ ..~

(C) agriculture (B) ~~

(0) space (C) ~~

54. The time period of the President of India
(0) 3id'ft~~

is 54. 1fI«f *~ q;y c:W:\'4li{1t
(A) 6 years (A) 6Cfff

(B) 3 years (B) 3CJti
(C) S years (C) sCJti
(0) 5 years

(0) sCJti

55. The country having the largest
55. eC4~4l ~'H1&11 ~ ~ ~-m t?

1
population is

(A) India (A) 1fI«f

(B) Russia (B) ~ I
(C) China (C) ~ "'I

1(0) America (0) ~

SMEO/13-A 12



86. Which State is known as CSowlotRiee'?

(A) Uttarakhand

(B) Jharkhand

(C) Kerala

(D) Chhattisgarh

(A) 3i1(I@Us

(C) ~

57. How many maximum runs can be
scored of a right ball in clieket? 57. ~ -ij ~~ CIffi 1:R 3t~Cfit\q ~ ~ iR

~t?
(A) 6

(B) 8

(C) 9

(D) 13

(A) 6

(B) 8

(C) 9

(D) 13

58. Taj Mahal is located on ~ .•~ of the
river

(A) Yamuna

(B) Narmada

(e) Ganga

(D) Brahmaputra

(A) ~

(B) •
(C) Tf1'IT

(D) ~.

59. When is the 'Hindi Day' celebrated? 59. 'ft.:<ft ~' q;Gf ~ ~ t?

(A) 14~

(B) 14~

(e) 25~

(D) 25~

(A) 14th September

(B) 14th August

(e) 25th September

(D) 25th August

! ~E £~~. "'

60. Intensity of earthquake is measured on
which scale? 60. ~~(ftm~~lR~~t?

(A) m
(B) ~

(e) ~

(D) ~

(A) Richter

(B) Decibel

(e) Pulse

(D) Ampere

SMEO/13-A 13 [P.T.O.



SCIENCE / fcoo;r
61. Which one of the following diseases is

not caused by bacteria?
61. f.l"'1~f{g(1 -ij ~ ChT-r-mWI ~ mu ':fit

mort?

(B) Typhoid

(A) Polio (A) ~

(C) Cholera

(0) Tuberculosis

(C) m
(0) ~

62. Which one of the following is a metal
but electrically bad conductor?

(A) Lead

62. f.l""l~f{g(1 -ij ~ ~-~ ~ ~:qI€1Cfi ~ t?

(A) ~

(C) Sulphur (C) ~

(B) Phosphorus

(0) Graphite (0) ~

(A) 6·4 (A) 6·4

63. What is the pH value of pure water?

(B) 6·6 (B) .6·6

(C) 7·4(C) 7·4

(0) 7·0 (0) 7·0

64. Which mirror is used in solar cooker?

(A) Concave mirror (A) ~~

(B) ~~

(C) ~~

(0) (A) am: (B) crr.n

(B) Convex mirror

(C) Plane mirror

(0) Both (A)and (B)

SMEO/13-A 14



65. Which metal is not an ideal metal?

(A) Sodium

(B) Gold

(C) Silver

(0) Platinum

66. Malaria disease is caUsed by

(A) Plasmodium

(B) Rainozium

(C) Anopheles

(0) Rhizobium

67. The purity of milk is measuredby

(A) thermometer

(B) speedometer

(C) lactometer

(0) purometer

68. Which one of the fOlIo.Ogis an alloy?

(A) Brass

(B) Iron

(C) Copper

(0) Aluminium

SMEO/13-A

tit. ~~~ ~.~ ~'~~t?,

(A) ~

(B) m;n

(C) -:qf<ft

(0) ~

(A) ~1\iiijf441ij .'

<I_;f\~qq(B)

~ot1?t;dt')it(C)

(D) <I_~filqq

67. ~cfft~lmtft·~~,·

(A) ~qM\G(~

(B) 'E'ftil4\l<~

(C) ~<tiI4\G(~

(O) ~4\l< ~

68. f.tl'01~~d.ij.~ ~-~ ~ ·~~t?

(A) ~

(B) ~

(C) men

(0) ~~f.t~'i
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69. The phenomenon of mirage occurs due 69. qfl~<tI1 c#it~ fcn« q;roJJ~~?
to which of the following?

(A) >r<tIm CfiT ~
(A) Polarization of light

(B) >r<tIm CfiTqft~
(B) Dispersion of light

(C) Total internal reflection of light
(C) wmrCfiT~~~

(0) Diffraction of light (0) >r<tIm CfiT~

70. 'Dry ice' is known as 70. '~ri' q;m.~ ~

(A) solid state of water (A) am ~ ctil

(B) solid state of ammonia (B) am~ctil

(C) solid state of oil (C) am~ctil

(0) solid state of carbon dioxide (0) am q;TGf;r .~~ ctil

11. Which of the foUowi~g.metals is not f.\""1fef&d -ij ~ ~-lft q am ~,~?71.
solid?

(A) Gold
(A) ~

(B) Mercury (B) tOO

(C) Silver (C) ~

(0) Platinum (0) ~

~fftt;qqt:I_'ijiifel_;S CfiT~ ~72. Calcium hydroxide is denoted by 72.

(A) CaC12 (A) CaC12

(B) Ca(OHb (B) Ca(OHb

(C) CaC03 (C) CaC03

(0) ZnC12 (0) ZnC12

SMEO/13-A 16



73. An example :'Of \il:nt¢e~. organtem .is

(A) human· (A) ~.

(B) ~

(C) 3llftan

(0) ~Cf)f~

(B) elephant

(C) amoeba

(0) banyan tree

74. Chemical name: oLJ(i~ '(>lS

(A) lactic acid

(B) ascorbic acid

(C) citric acid

(0) All of the above

(A) ~~

(B) ~q;TIifct; ~

(C) ~~

(0) ~~

(

75; Valellcy of oxygen is
75.

(A) 2
(A) 2

(B) 3
(B) 3

(C) 4
(C) 4

(0) 1
(0) 1

76. Which nutrient element is present
in milk? ~~'fn: ... 76. ~it~~~t

(A) -ucf;u

(B) mtR

(A) Glucose

(8) Protein

(C) Fat (C) cmT

(0) All of the above (0) ~~
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77. Which of the followirigconverts blue 77. ~~~q;)·~~~t
litmus paper into red?

(A) ~ -q;ffi q;r ~

(A) Juice of sour fruits

(B) ~Cfi1"f.1ffi
(B) Solution of soap

(C) mfRCfi1"f.1ffi
(e) Solution of sugar

(0) Solution of salt
(0) ~ Cfi1"f.Iffi

78. q l~ilo~Rllf <:1Gf lntrT. iilRfT t
78. Atmospheric pressure is measured by

(A) thermometer
(A) ~-«

(B) barometer (B) ~-«
(C) pff.ii\4l2( -«

(C) speedometer

(0) ammeter (0) ~-«

79. f.l""lIftRsAd-ij -«~-lfr SlI,fdCfl 3l$lr mtr-J t?79. Inexhaustible natural resource is

(A) ~~lftlf'i(A) petroleum

(B) natural gas (B) SII,RtCfl tm

(C) coal (C) ~

(0) air (0) l1cR

80. Symbol of iron is 80. ~ CfiT "SI<ftcfi t

(A) Fe (A) Fe
1
I,

(B) F (B) F I
(C) I

t:

(C) I n

(0) Mn (0) Mn

SMEO/13-A 18
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"'l\MTHEMATICS / rrfUTo

81 Th al f
.J729 +.J676 .

. e v ue 0 rz;:;;:; rg;:;-z IS,,625 -,,576

(A) 25

(B) 43

(C) 26

(O) 53

(A) 25

(B) 43

(C) 26

(O} 53

82. If the ratio of the radii of two circles
is 5: 3, then the ratio of their
circumferences is

,

82. ~ ~ c6t ~m q;y ~ 5: 3 tl ~
~q;y~m

(0) None of the above

(A) 3: 5

(B) 3: 4

(C) 5: 3

(0) ~ ll-a ctiW. ~

.. (A) 3: 5

(B) 3: 4

(C) 5: 3

83 The volume. of a cone is

(C) ~7tr3
3

(0) ~7tr3
3

(A) ~7tr2h
3

(B) ~7tr2h
3

(C) ~7tr3
3

(0) ~7tr3
3

(A) ~7tr2h
3

(B) ~7tr2h
3

(C) right angle

(0) straight angle

84. ~ am ~ cn1vrmt ~
(A) ~cn1vr

(B) "'\."'Ich)ol

(C) ~

(0) ~cn1vr

84. The angle subtended in a semicircle is

(A) obtuse angle.

(B)' acute angle
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85. The value of (19)0 is 85. (19)° q)T ~ ~

(A) 1 (A) 1

(B) - 1 (B) - 1

(C) 0 (C) 0

(0) 19 (0) 19

86. lf the measure of one diagonal of a 86. ~ ~ qzf ~. v:cti fcrcfiui c#i't lWJ 4./2 "«0 lft"0
square is 4./2 em, then the perimeter of t, m qzf c#i't tJftrrrq m1ft
the square will be

(A) 4 ern
(A) 4 "«0 lft"o

(B) 8 em
(B) 8 "«0 lft"o ..

(C) 18 ern
(C) 18 "«0 lft"o

(0) 16 em (0) 16 "«0 lft"o

87. Identify which is not a .perfect cube. 87. f.rR if "«~-~ ~)l?f ~ ~ ~?

(A) 125 . (A) 125

(B) 512 (B) 512

(C) 1250 (C) 1250

(0) 1331 (0) 1331

88. lf the area of a circle is 154 m 2, then
88. ~ v:cti VI q)T ~ 154 qzf lft"o~, m~ ;t

the circumference will be ~m1ft

(A) 7m (A) 7lft"0

(B) 14 m (B) 14 lft"o

(C) 44 m (C) 44lft"0

(O) 54 m (O) 54lft"0



91. Three angles of a quadrilateral are 91. ~ ~ * <f\;Pfi)'O'f Sfilm: 105°, 120° (f?fl

105°, 120° and" 75° re$pectively. What 75° ~, ~ ~ q;)ur C1ir~ m
will be the measure of its' fourth angle?

(A) 50°
(A) 50°

(B)
(B) 60°

60°

(C) 70°
(C) 70°

(0) 75°
(0) 75°

• 92. x2 - 6x+ 8* !!UI'1(!1\t6 ~
92. Factors of x2 - 6x + 8 are

(A) (x +4)(x + 2) (A) (x +4)(x + 2)

(B) (x -4)(x +2) (B) (x -4)(x +2)

(C) (x -4)(x,... 2) (C) (x -4)(x -2)

(O) (x +4)(x -2) (0) (x +4)(x -2)

89. The mean of the first ten natural
numbers will be

(A) 5
(A) 5

(B) 5·5
(B) 5'5

(C) 10
(C) 10

(0) 10·5 (0) 10·5

90. In which account, bank does not give
interest? .

(A) ~mor
(A) Current Account

(B) ~mor .
• (B) Savings Account

.. (C) Fixed Account

(0) Recurring Account
(0) 3UGRff ~ mor

SMEO/13~A 25 [P.T.O.



Loss 10093. Loss% = -. - .x

(A) Cost price

(B) Selling price

(C) Marked price

(D) Discount

94. The diameter ofa cylinder is 10 cm and
height 21 cm.The curved surface area
of the cylinder is

(A) 220 cm2

(B) 440 cm2

(C) 660 cm2

(D) 880 cm2

95. The sum. of }he opposite angles in a
cyclic quadrilateral is

(A) 1200

(B) 1600

(C) 1800

(D) 3600

96. In frequency, the sign .IHf shows which
number?

(A) 3

(B) 4

(C) 6

(D) 5

SMEOj13-A

mf.r
93. ~% = _. - x 100

(A) ~~

(B) ~~

(C) ~~

(D) ~

94. ~ v;cfi ~ q;r Olfm 10 "Golfio <mT.~
21 "Golfio t, m~Cf;T~ ~~

(A) 220 Cflf "Golfio

(B) 440 Cflf "Golfio

(C) 660 q1f "Golfio
J

(D) 880 Cflf "Golfio

(A) 1200

(B) 1600

(C) 1800

(D) 3600

96. ~l(kll«'111 .IHf ~ ~ ~ q;) do ,"Cfi«fT

t?
(A) 3

(B) 4

(C) 6

(D) 5

26
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97. The solution of the~n .5x -,7 == 2
3x

is

(A) x = 2

(8) x == 3

(C) x = 7

(0) x =-7

98. The radius of a circle is 5 em. Find the
distance of an 8 cm long chord from
centre of the circle.

(A) 3 em

•

(8) 5 cm

(C) 7 em

(0) 9 em

99. What will be the marked price of an
almirah which is sold for r 4,048 after
allowing 8% discount?

(A) r 4,800

(8) r 4,100

(C) r 4,200

(0) None of the above

100. If x: 4:: 5: 2, then find the value of x.

1
(A) 10

(8) 1

(C) 10
4

(0) 10

SMEO/13-A

(A) x=2

(8) x = 3

(C) x = 7

(0) x =-7

98. 5 -«0 l{to ~ ~ ~ ~8 -«0 'l:fto ~
~ ~ cti)'q -« ~ "Mt

(A) 3 -«0 'l:fto

(8) 5 -«0 'l:fto

(C) 7 -«0 l{to

(0) 9 -«0 'l:fto

99. '3'« amlfRt ctiT~ ~ .rr m, ~ 8%
"iI!l~ ~ ~ r 4,048 ~ ~ ~t?

(A) r 4,800

(8) r 4,100

(C) r 4,200

100. ~ x: 4:: 5: 2~, aT x ctiT1fRm
1

(A) 10

(8) 1

(C) 10
4

(0) 10
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INSTRUCTIONS REGARDING'IIE'tROD OF ANSWERING QUESTIONS

~~~~~~

(Please use Black Ballpoint Pen)

1. Method of Marking Answers :
To answer a question, please darken
only one circle out of the given four, in
the OMR Answer-Sheet against that
question.

2.' Valuation Procedure :
There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one circle
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
mark shall be awarded.

3. Cancellation or Change in Answer :
It will not be possible to change the
marked circle with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OMRAnswer-Sheet.

4. Handing over of Answer-Sheet to
InlligUator : 4.

(i) Please ensure that all entries in the
Answer-Sheet are filled up properly,
i.e., Name, Roll No., Signature,
Question Booklet No., etc., before
handing over to the Invigilator.

(it) CANDIDATESARE PERMITfED TO
CARRY AWAY THE Qt1~STION
BOOKLETWITHTHEMAFTERTHE
EXAMINATION.

5. Care in Handling the Answer-Sheet :
While using Answer-Sheet, adequate
care should be taken. Do not tear or
spoil the Answer-Sheet by folding or
wrinkling.

(~~~-~ ~ em ~~)

1._ 3'ffl'~ q;r rrfIc1;r :
'3'iR ~ ~ ~ 3llo ~o 3lRo '3'iR-q:[ -ij
~ m~~ ~ ~ '1:JR tTIffi -ij ~
~ ~ ~ q;) rw CfiT8Tttill

2. 'lcr4ie"., 'qfit :
~ m ~1m ~Cfiu;qCfi "3'iR ~, m -am
~ '3'iRmft ~ I mq:rr mft '3'iR ~ ~ ~
~ aicfi mlT mrrri ~ ~ -a ~ ~ ~
~ ~ ~, m <ffl l{RT ~ fct; ~a.w.ff q;)
~ q:rr ~ '3'iR ~ ~~ 3ltt ~ ~ ~~~_I

3. 3'ffl'W f.tmr CfW1T 'lIT ilii?l." :

"3'iR ~ ~ f.m:o ~ ~ ~ ~
~-~ t.l -a ~ ~ ~ ~ f.mR q;)

~ ~ ~ ittrr I 3TIf: mo ~o 3lRo

~-q:[ -ij '3m: q:rr ~ ~ ~ ~ ~ '3m:"CfiT

~~Cfill

3'ffl'-w 7/tercn '(f;} '#ftr:lr :
/

(i) cft~ q;) '3'iR-q:[ ~ * ttre Wtf~
~ ~ fct; '3'iR-q:[ ~ ~ 1IJ lR, @ft
~ ~~, W ";{MR, ~~,

~-~q)f~~~~

lR~-~,:R ~ ~I

(ii) ~~ ~ ~ lriJ,emff ctft ~-
9;mtCfiI ~ 'mW ~ ~ c€t ~
t,'

5. 3'ffl'-W cW; ~ .q ~ :
~-~ CfiTm ~ ~ ~ ~ -a~
~I ~~, ~ ~ ~ ~ -a ~ ':f

~~I
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